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Topic:- GENERAL HINDI

1) FafafEa & @ w19 w1 ey e 82
1.(")

2.(,)

3.(1)

4.(-)

Correct Answer :-

< (1)

2) T Yo § §1 Mg A § I DI A1 82
1. STAUH

2. STl

I KCIK|

4. dlcll

Correct Answer :-

o T @rel

Correct Answer :-
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5) Ui~ URTd 1 F1Y FAI A 99 & 5T i W 41 | B9 91 SAPR 82
1. SUHT 3P

2. BUD HABR

3., SffIRIAIfT SAdR

4. TV SADBR

Correct Answer :-

6) T P Y ©UFTE?
1. 2
2. 4=
3. 90
4,

Correct Answer :-

7) BT ek draf Rl

1., TG Gl
2. TR & B BT

3. @RI-@et AT
4. AT &
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Correct Answer :-

8) ‘learning’ X% ¥ forg f2=dt vmwn & S ik wrgraett &1 999 S91
1. T

2. AT
3. Ufqurar
4. G

Correct Answer :-

9)
Ciciake e .
1. YIRY

2. 3P

3. 9

4. UG8

Correct Answer :-

10) &R YR AR M, TR gALR DI Wi 1"

- R Ml el g8, Tg MR A wiTn - A e g
1. eIy

2. XA T

3. YickT X9

4. Al Y

Correct Answer :-

. T

Topic:- GENERAL ENGLISH
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1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:

Anil: How did the election go?
Sunil: Very exciting till the last minute. Our candidate proved to be a dark horse.

1. The candidate is not popular but won.

2. His candidate lost the election, though he was expected to win.
3. The candidate backed out at the last minute.

4, The candidate is popular and won.

Correct Answer :-

o The candidate is not popular but won.

2) A sentence with an underlined word is given below. Choose the correct option which is closest in meaning to
the underlined word.

The fruit of one's toil helps others to continue with the mission.

1. achievement
2. hard work

3. attempts

4, sufferings

Correct Answer :-

e hard work

3) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

‘A Tale of Two Cities’, a wonderful book to read.

1, are

2. were

3.1s

4, have been

Correct Answer :-
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4) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

This year, our cricket team all the matches played on the Indian soil.
1. will win

2. was winning

3. wins

4, has been winning

Correct Answer :-

+ has been winning

5) Choose the appropriate adverb clause from the options to complete the given sentence.

He was very pleased

1. which you passed

2. which you had passed
3. that you passed

4. that you who passed

Correct Answer :-

« that you passed

6) Out of the following four options, choose the incorrect sentence:

1. Rohit is a charmer and you can find him selling newspapers on M G Road from 8:00 a.m. every morning.

2. Diabetes, a leading cause of heart problems, does not allow people to make it to the hospital in time after a heart
attack.

3. Symbiosis Institute is India's premier approved business school.
4. Nehru's vision continued to light up the entire nation even today.

Correct Answer :-

+ Nehru's vision continued to light up the entire nation even today.
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7) Out of the following options, choose the most appropriate usage to fill in the blank:

Ilive a few yards ___ the bus stop.
1. off

2. from

3. outside

4. away

Correct Answer :-

o from

8) Arrange the sentences P, Q, R and S to form a logical sequence between sentences 1 and 6.

1. Jurors do not have to be intelligent.

P. In 1933, in a sheep-stealing case in Wales, two of the jurors were totally unable to understand English,
but no one found that out until after the trial.

Q. There is no test, no examination, and no enquiry about their abilities..

R. The convicted found this out and complained about it to the Court of Criminal Appeal.

S. No one even takes the trouble to find out whether they can understand the English language.

6. Still, the Court of Appeal felt that it must refuse to interfere.

1. QPRS
2. SQRP
3. PRQS

4. QSPR

Correct Answer :-

Topic:- GENERAL KNOWLEDGE

1) Which country will host the 2022 Football World Cup? / 2022 Fedid [y $U BI ASGT B arell ST
P9 II?

1. America / 3mRaT
2. Canada / dAIS]

3. Qatar / HR

4, Mexico / it
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Correct Answer :-
e Qatar / PR

2) According to sex ratio trends of Census 2011, which district of Madhya Pradesh has been ranked nhumber
One. /

SRTUT 2011 § T SuTd & ST & SR, U9 U & fora o &1 wiaw v =i fear man g1
1. Seoni / Ryt

2. Ratlam / IqTHT

3. Balaghat / STeTaTe

4, Mandla / §&cll

Correct Answer :-
» Balaghat / STcITHIC

3) The folk dance form called *‘Matki’ is prevalent in which of the following regions of Madhya Pradesh?

éeﬁ' ATE A T = geavet & Fufiafad § 9 fow & & vafee 82
1. Bundelkhand / §¢adie

2. Malwa / HIcTdl

3. Vindhyachal / fd&amara

4. Baghelkhand / S9T@US

Correct Answer :-
e Malwa / HICIdl

4) Who appoints the Chairman and the Members of the Union Public Service Commission? /
Y W T SATANT & el SR Tawd 31 F1gfeRt B a1 82

1. Chief Justice of India / HRd & A <AL

2. Prime Minister / G4 Tt

3. President / I5¢Ufd

4. Chief Election Commissioner / ¥ g1d (T

Correct Answer :-

» President/ TI'E,:CI'%
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Under the Madhya Pradesh Ladli Laxmi Yojana, the beneficiary is paid the total amount on attaining the

ageo%f_. / AEYCRT ATS ! A&t Ao & agd, arurdf @t oy ¥ T 89 IR Fa iR BT YA foean
ST B

1.18
2.21
3.23

4. 16

Correct Answer :-
e 21

6) India has won the gold medal in hockey __ times at the Olympics. /
Adafir el A URAGAsPI A @oiugew AR gl

1.9

2.7

3.8

4.6

Correct Answer :-

7) Where is the Madhya Pradesh Tribal Museum located at? /
AT Y= SIS HIETed Bl 194d 872

1. Indore /E"Cﬁ?

2. Jhabua / 3T

3. Khargone / |

4. Bhopal / Hiord

Correct Answer :-

o Bhopal / Hiorer

8) The fictional boy character of the ‘The Jungle Book’ by author Rudyard Kipling was: /
TGP TSATS [HURNT GRT G S g’ BT HIUD qTAD AT UT:
1. Kaa / I

2. Mowgli / AT
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3. Shere Khan / WA

4. Bagheera / FURT

Correct Answer :-

« Mowgli / ANTR

9) The recipient of which one of the following awards given by Madhya Pradesh Government gets the highest cash
prize? /

fFrafafee ReRI § 3 fFad uraeal &) 99 TSR TRER §RT STAH 6 [RIBR a1 SIrar 82

1. Mahatma Gandhi award / FgTeHT TITef} PIEThR

2. Shikar Award / fRR&R IRIHR

3. Sharad Joshi Award / TRG SIRIT GREHR

4. Kishore Kumar Award / f&=¥IR $HR JREBR

Correct Answer :-
e Mahatma Gandhi award / HGTHT el JRIPR

10) Who among the following was the Trinidadian writer of Indian descent? /
fFafafae & @ urdla qa & e das o9 A2

1. RK. Narayan / 3[R & AR

2. Anita Desai / &:ﬁ?ﬂaﬂT&F

3. Rudyard Kipling / Fears fopufer

4. V.S. Naipaul / &1.T9. TR0

Correct Answer :-

« V.S. Naipaul / d1.Q9. F9didl

Topic:- GENERAL REASONING

1) Find the missing number: / & I [ B
4,196,16,169, ____, 144,64

1.81

2.36

3.32

4.21
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Correct Answer :-

» 36

2) Find the average. / 3T NIG) ]|
25, 35,45, 55, 65 & 75

1. 48

2.50

3.47

4. 49

Correct Answer :-
« 50

3) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
W &Y S T SigRY Td WSS BT ST UANT B | | Terd Jare g |

(i) FT85DF77ER

(ii) FT85DF77ER

(iii) FT85DE77ER

(iv) FT85DF77ER

4, iii

Correct Answer :-

4) A and B together can complete a piece of work in 10 days and B alone can complete the same work in 20
days. In how many days can A alone complete the work? /

A 3R B U% 1Y HTH & T HIT &I 10 3= A AT B3 © 3R B AP I &19 HI 20 fa= & Ta a1 21
foraq fa=1 A A 3rdrel 9 &9 P YA B APl 2l

1.20 days/ 20 feq
2.30 days / 30 feT
3.10 days/ 10 fe7

4.25 days/ 25 fea
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Correct Answer :-

« 20 days/ 20 feq

5) Which one of the following four addresses is NOT EXACTLY same as the one given below?

TRt maR @ ¥R R & e A s aT e T8 22

Ground Floor, 59 Goulburn St
Sydney, NSW 2000 Australia
+61 (02) 8987 3700

(i) Ground Floor, 59 Goulburn St
Sydney, NSW 2000 Australia
+61 (02) 8987 3700

(ii) Ground Floor, 59 Goulburn St
Sydney, NSW 2000 Australia
+61 (02) 8987 3700

(iii) Ground Floor, 59 Govlburn St
Sqdney, NSW 2000 Australia
+61 (02) 8987 3700

(iv) Ground Floor, 59 Goulburn St
Sydney, NSW 2000 Australia

+61 (02) 8987 3700

4. iii

Correct Answer :-

6) In a group of 75 people, 32 of them like cold drink, 56 of them like general water and each person likes
at least one of the two drinks. How many people like both? /

75 ANT & THE |, ITH A 32 B PIcS [P UHS 8, 370 T 56 P! AWM oI Y¥< & 3R U Al
P S A Y FH Y FH TS T WS 2| fha A & g4 wWig 82

1.1

2.13
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3.12

4. 14

Correct Answer :-

. 13

7) IfA =1, FAT = 27, then FAITH=? /
gfd A = 1, FAT = 27, @ FAITH = ?

1. 41

2. 40

3.42

4. 44

Correct Answer :-

. 44

Topic:- PEDAGOGY

1) CANCELLED

Basic education became a major initiative because of the efforts of: /
Tt Rrar 1 & T @ U Aeayut ST d e TS

1. Dr. Radhakrishnan / . NEICAUE]

2. Dr. Rajendra Prasad / ST. 3ol UG

3. Mahatma Gandhi / H&THl el

4. Rabindranath Tagore / XSy TR

Correct Answer :-

e Mahatma Gandhi / HGTH] el

2) The “clause of phrase” is an unit of perception of: / "a=TisT 3% eT" fAwT T €T T TH THS &:

1. Image / gf9

2. Concept / stagmom
3. Language / 9T9T

4. Thought / fa=TT

Correct Answer :-
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» Language / {TUT

3) Which method is most suitable to study communication process among students? /

B! P §19 TR U1 BT 0T I P 7T oI It fafr I8 Suge 82
1. Case Study/II'ITI@IW ST WQ@%

2. Systematic Observation / AR AP

3. Experimental Method / TN fafey

4. Introspection / STH-FAIETT (SCIWA)

Correct Answer :-

» Systematic Observation / AT DB

4) Genes in a human being are located in: / HEal | S E"Tﬁ == ﬁﬂT %:

1. cytoplasm / BIRHT GoT (TS IETSH)
2. ribosomes / JZSTH
3. cell membranes /ﬁﬁzm %Iﬁﬁ

4. chromosomes / TOREH (ShIHEIT)

Correct Answer :-

» chromosomes / J[UIRLA @Tﬁ@ﬂ)

5) With smaller classes, teachers are much more able to ./

B wams &y, Rrerw ¥ afftrer HaM gl 21

1. Go slow while teaching / TRI&f0T & R it iy o s

2. Narrate more personal experiences / i SfGTd Glﬁl@ CAKGIR]

3. Adapt instruction to individual differences among students / BTAI & sid Hfd Td Hayal & T 3w [RERUCE
4. Make use of the extra space for extra-curricular activities / TSR et & oy Sffciad S8 &1 U B

Correct Answer :-

 Adapt instruction to individual differences among students / BHEI & o1 AfdeTd aval o fore 3fJed SCRIGE R

6) While engaging in a task, the child gets bored. This is a sign of: /
TS S H I 51 W, T&1 S ST ¢ | g 719 71 H$5d 6:
1. the task requiring a professional approach. / &1 ) ATIIRID VB B ATTIHT & |
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2. the task becoming mechanically repetitive. / o1 , 9ifid ® U q e arar g
3. the child not being intelligent. / = YfGHAM & g

4. the child being incapable of learning. / I=l e 7 sl g

Correct Answer :-

« the task becoming mechanically repetitive. / o , i *Uq eI A gl

7) Educational Psychologists are more concerned with the learning in ./
QNeifOrP AT, # SifrT & |y 31t fiferd gia 81

1. Formal environment / SNY=R® aTdTaRUT

2. Informal environment / SFﬁW CIGIEERL

3. Physical environment / ifde areR

4. Social environment /WW dIdrdaror

Correct Answer :-

o Formal environment / 3No=ies ardreRor

8) Special needs education is the type of education: / ToRIw Sr=al arett Rrem a8 e sidt %, S
1. Given to person with disabilities. / 3&H i &I &l St %‘I

2. Given to people from remote areas. / GX¥I & & AT ot Y STl B

3. Provided to intelligent people. / SfGHT RN DI &t SITait gl

4. Established by colonial masters. / Sufafe H@tﬂ&ﬁ GRT TUT &t Tlé %I

Correct Answer :-
» Given to person with disabilities. / 3{&H i Y ?ﬁ STt %I

9) The Stanford-Binet scale of intelligence was first published in the year: /
i F RAwIs-fae W ®1 59 a4 # Ugdl IR UTiRid fovar 74T or:

1. 1916

2. 1903

3. 1908

4. 1900

Correct Answer :-

- 1916
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10) The term ‘fictional finalism’ was propounded by: /

Ug ‘wiedd yadare’ (fhaRd wrsHfsH) g% grT ufaurfed forar war ur:
1. Skinner / f&pR

2. Freud / WIS

3. Adler / TSR
4. Pavlov / UTddid

Correct Answer :-

e Adler/ TS

11) Rational Emotive Behavior Therapy was propounded by: /
T UGS gk AUt e & gry wfeanfed $1g o
1. Carl Jung / Wﬁgﬂ

2. Carl Rogers / BT o

3. Aaron Beck / 3IRIF &

4. Albert Ellis / 3eec Tferg

Correct Answer :-

« Albert Ellis / 3{csc Ul

12) Which of the following indicates the quality of education in a school? /

Frafafea 3 S« ve woa A Rien 3 o $1 Jeae 82

1. Text-books and Teaching-learning material / W—W T R1&r01 9 TREn | Heiferd wrut
2. Infrastructural facilities at the school / ¥ ¢l T o YRYd HEEEEIRE] ﬁﬁ?ﬂq

3. Student achievement level / fq&eal &1 Juafs wR

4. Classroom systems / P&l P AR

Correct Answer :-

« Student achievement level / Tt &1 Iuafes TR

13) Which of the following teachers can be identified with authoritarian teaching style?/
fFrafafaa o @ o9 a1 Riee, sifterard! Rigor Reft & Ty ug==m o Jodr 82

1. Laissez-faire teacher/ 3{d-¥] fRreis
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2. Democratic teacher/ KICREIRNEIRED
3. Indifferent teacher / TSaef &/

4. Direct instruction teacher/ Y& IEIéQI Rrerw

Correct Answer :-

o Direct instruction teacher/ Y& = e

14) Who was the pioneer of classical conditioning? /
FrufafRa urgee @R S & yade 1 32
1. Skinner / PR

2. Pavlov / O1dad

3. Kohler / ®IgaR

4. Freud / OIS

Correct Answer :-

« Pavlov/UIdd@ld

15) Which of the following are true with reference to short term memory?
1. Limited capacity
2. Brief storage of information
3. Unlimited capacity
4, Duration of storage less than twenty seconds
| SrumTae Wfd & deH # e § S w82
1. iffra e
2. I & Jfae WSrRor
3. AT &
4. 919 TPs ¥ HH USRI H1 @i
1.3and4/3 3R 4
2.2and 4/2 3R 4
3.13and4/1,3 3R 4

4.12 and4/12 3R 4

Correct Answer :-

e 1,2 and4/12 3R 4
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Topic:- GEOGRAPHY

1) Which of the following ranges of population size is used to define Class-III city by Indian Census? /

YR SFRTOTET gIRT avi-11 e B URHINT B34 & fore fRufiRad | 3 fag 39 & S94E iR
BT IYANT foBaT ST 82

1. 20, 000 to 49,999 / 20, 000 | 49,999
2. 30,000 to 59,999/ 30,000 | 59,999
3. 24,000 to 54,999 / 24,000 9 54,999
4. 50,000 to 99,999 / 50,000 9 99,999

Correct Answer :-

« 20, 000 to 49,999 / 20, 000 H 49,999

2) Carbonaceous rocks which produce coal and oil belong to the category of rocks called ./

DI MR A BT I H aTell PIIIIa agH, TP TSI B1 A7 I HEfUd §1
1. metamorphic / FUiaRd

2. sedimentary / /@IS

3. inorganic / 3SIfd®

4. igneous / 3THT

Correct Answer :-

+ sedimentary / 3{aardt

3) The ruhr-complex is a major industrial centre in: / ¥-URTR Y T vw UqE 3fienfies Fg @:
1. North America / TR SHR®T
2. Russia /=9

3. Germany / SHAT
4. Europe / ?I\ﬁ'q

Correct Answer :-

» Germany / STHT

4) The term ‘Regur’ refers to: / TG R’ T gafid 21
1. Deltaic alluvial soils / S¢eT GI?TE‘? ﬁréﬁ
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2. Laterite soils / aEQIEE ﬁl'ép[
3. Red and yellow soils / ¢lcl 3R dielt ﬁl?[
4. Black cotton soils / STl mﬁ@

Correct Answer :-

« Black cotton soils / Tall pUR gt
5) Read the given statements and answer which of the following options is/are correct?
1. Lower the pressure, greater the atmospheric disturbance.

2. Air move from higher to low pressure. /

feT e By P ¢ IR I & & P d d w914 Rec g 32

1. Fora=T g9 &1 g, gy S arUTe S+l iferw givi |

2. a1g 3 A 1Y 319 &Y 3R ey Bl B

1. Both Statements 1 and 2 are correct. / EBI:I‘TEBW 1312 H_Eﬁ%l

2. Both Statements 1 and 2 are wrong. / aﬁr DY 1 GﬁT 2 TIF‘I?T%I

3. Statement 1 is wrong and only Statement 2 is correct. / PY 1 W%’ 3R Had HYT 2 el %l
4. Statement 1 is correct and Statement 2 is wrong. / YU 1 ﬂﬁ% R BUT 2 TIFI?[%I

Correct Answer :-

« Both Statements 1 and 2 are correct. / E'a:ﬁﬁ?ﬂ 1 S?IT 2 W%I

6) CANCELLED

Asperthe Census 2011, arrange the literacy rates of the following states in descending order. /

SASTATUTHAT 2011 & AR, foleoTTol e Vel ohl AR AT EX SR IG] hH & sa ed & |
Kerala /el

Punjab / JalTd

Tamil Nadu / Hﬁﬂﬁ'@’

Uttar Pradesh / 3cd¥ Wcal

Rl B

1.4,1,2and3/4,1,2 3R 3
2.4,1,3and2/4,1,3 3R 2
3.1,4,2and3/1,4,2 3R 3

4.1,4,3and2 /1, 4,3 3R 2

Correct Answer :-
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. 1,4,3and2/1,4,33IR2

7) CANCELLED

Karl Pearson’s correlation co-efficient is: / mﬁﬁmﬁq WWHW %:
1. Arithmetic mean / JHI-dR HIT

2. Geometric mean /‘IUﬂT'lTIIT‘&’C[

3. None of these /s‘riﬁ@raﬂ'sf:l%ﬁ

4. Harmonic mean / @XIHD HIY

Correct Answer :-

« Geometric mean /‘,lUilfﬂ HIE

8) CANCELLED

“Each day is more or less the same, the morning is clear and bright with a sea breeze; as the Sun climbs
high in the sky, heat mounts up, dark clouds form, then rain comes with thunder lighting. But rain is soon
over”. Which of the following regions is described in the above passage? /

U o TAF & T 91 4 Fia1 8, TGS B gaT1 S 1Y WP SR Iwad ag gt §; o o
STHT § ST I&dT ¢, THI 9¢ STl ©, PTat a5 o-1d 2, TOh< fosrelt & ary sy ot 81 afh=1
IR Sied WA 1 SiTdl € 12 SuRISd ured # fAuferfad # 9 51 &= &1 guiq fear mar g2

. Equatorial / a[qwi@u

[y

. Equatorial / {q?ﬂi@ﬂﬂ

N

w

. Savannah / 4Tl
. Mediterranean / 3MGTAND ('J-E:TW)
5. Mediterranean / 3MGTAND (%W)

. Monsoon / HIF¥
. Monsoon / HIYd

o

)]

N

Correct Answer :-
« Equatorial / ﬂ{qwilaﬁa
« Equatorial / ‘J-ETW

9) CANCELLED

In which epoch of the geological history of the Earth, dinosaurs reached their largest size? /

Jdt & ﬂmﬁqgﬁema?mgnﬁ,memﬁw&wwu@?
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1. Triassic / ‘gﬁ%

2. Jurassic / W

3. Cretaceous / SPICRN
4. Permian / GfHTA

Correct Answer :-

+ Jurassic/ W

10) CANCELLED
A spring tide would occur in which of the following conditions? /
Frafufea 3 9 for Rufoa & saR-wret smar 82
1. When the Sun, Moon and Earth are in a straight line. /
e I, <o 3R gl Uep A @ H gld 6
2. When the Moon and Earth are in right angle to each other. /
e AT 3R P Th-guR & alfe ST H gl 8 |
3. When the Earth and Moon are in right angle to the Sun. /
o9 gt SiR d5AT g & e S A B B
4, When the Sun and Moon are in right angle to each other. /

e Y TR TEH Th-gIR & el ST H B 5|

Correct Answer :-

» When the Sun, Moon and Earth are in a straight line. /
e g, 5T 3R gt U et T H g B

11) CANCELLED

An observe on the Earth’s surface always sees the same face of the moon because: /

TP T4 B gl o Gag A AR A1G 1 TP 51 Bad (¢S odl o, Fl1P:

1. Its path of revolution around the earth is the same as that of the earth around the Sun. /
ST Gt & TRY 3R UReh A &1 AT g & IR} 3R gt & A &1 B

2. Its period of revolution around the Earth is the same as its period of rotation around its own axis. /
P! Gt & IRT SR URSHHUI BT (Al JHB! U=t 4 & IR 3R YUl B1 3afd & JHH= 3|

3. Its period of rotation is the same as that of the Earth. / S ‘CIUT:f DI ST qaa"r & T g
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4. Its direct of rotation is the same as that of Earth. / El;UT:f G| IEQH qzaﬁ & A ﬁ %I

Correct Answer :-

« Its period of revolution around the Earth is the same as its period of rotation around its own axis. /

P! il & IRY 3R UReHHUI &1 Safy ST U 3T & IR} 3R gulH &1 3afd & GuF 3|
12) CANCELLED

The pebbles that are faceted by the sand-blasting and shaped, polished by the wind abrasions are known as:
/

g gy gRT uitarsr, Yd-fawpifed iR |1 # el s & U H ST ST 2|
1. Dreikanter / 106
2. Pediments / AT

3. Inselberg / ET\E}WT
4. Dunes / <&

Correct Answer :-
o Dreikanter / %UW

13) CANCELLED

Astronomical unit is the average distance between: / LCHII | WI'&F - ¥ S ot Sia g;& % I
1. Earth and Mars / q%ﬁ 3R T

2. Earth and mercury / qtfﬁ 3R qY

3. Earth and moon / E[‘lfﬁ 3R dH

4. Earth and Sun / qza? 3R ‘v"[{f

Correct Answer :-

« Earth and Sun / q?-aﬁ 3R “\:I;Cf

14) During cold weather season, in the northern plains there will be an inflow of cyclonic disturbances
from the directions. /

i W ¥ R, S A saTdt | et & Tepara Jad Teadt o1 sidaty gl
1. East and Northwest / Jd 3R STRUSH

2. East and Northeast / Jd 3R JaItR
3. West and East / Tf3H 3R qd
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4. West and Northwest / Tf8H 3R STRUIZH

Correct Answer :-

« West and Northwest / T8/ G-ﬁT IR

15) During an earth quake, the velocity of the body waves will along with the increase in density
of the material it is passing through. /

YHY & SR, eI P S YFT BT a7, Ted H i & a1y , STl 3 TORA aTel a%g
P 3R TSI |

1. not change / ol daa

2. increase initially and then decrease / {[23{Id | 3R fopR g
3. increase / _GléTIT

4. decrease / T

Correct Answer :~-

« increase/ aé,l |

16) The Clouded Leopard National park is situated in which of the following states? /

Frafafaa § foa =g 7 yffra dgam e ST (@SS s dus AR Urd) fRUd 87
1. Tripura/ﬁ'ERT
2. Uttar Pradesh / SR UG

3. Assam / 3{HH
4. Mizoram / THSIRH

Correct Answer :-

« Tripura / ﬁ‘gﬂ

17) Usually the land surfaces are heated more quickly than the water surfaces, because .

T AR W oel Felgl B ga-1 o Y Jag Siftre dei F 7 gt ], wifes gl
1. the specific heat of water is higher than land / g ot fafdry [CL IR ?ﬂ%f EEEIRED

2. the specific heat of water is lesser than land / Uil 1 fafR1y S H;&f I 6 gl

3. the latent heat of water is higher than the land / Tt Bl Hﬂﬁ%ﬂ GHOHT ‘1;[&[ ﬁ 3feH

4. the land reflects more heat radiation than water / 3{&[ Ul &l SEL T 31fY% & 1 & fafaor & Rafdd
EAI|
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Correct Answer :-

« the specific heat of water is higher than land / Tl bt fafRry S, Hﬁf ¥ 3ffI®

18) The longest shore-line is along the state of: / LER AL | mﬂnw FgTsa sy e:
1. Maharashtra / HeIRTY

2. Orissa / G?ﬂﬂT

3. Kerala / h%d

4. Gujarat / J]SIRId
Correct Answer :-

+ Gujarat / T[oIRId

19) The position when the Earth is farthest from the Sun is known as: /

oie gt g & gad gX gl ©, o 39 fRufe &Y fg i & s e
1. Perihelion / SURR

2. Vernal Equinox / S8 d fayd

3. Aphelion / TR

4. Autumnal Equinox / RIReh[d] ﬁ'ﬂa

Correct Answer :-

+ Aphelion / ITIR

20) The seasonal reversal of winds is the typical characteristic of: /
gare FTHIGHI uRaddT & 9= faiwar 21

1. Mediterranean climates only / B ac] H}:IW@T[ NNEIE

2. All of the above climates / B'Cl?j?ﬁ Tt ﬁ}'ﬂ:{

3. Monsoon climate only / $ad HHYA S@dg

4. Equatorial climate only / rad] YHERTN S1drg

Correct Answer :-

« Monsoon climate only / Had HIFYT SIAaR]
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_ HEHiAEnY, qa e Ral A g |

1. metamorphic / CIRIGIRG]

2. igneous and metamorphic / 3T 3R HaaRa
3. igneous / Moo

4. sedimentary / 3ATC

Correct Answer :-

« sedimentary / RICESI|

22) Black soil is ideal for the cultivation of cotton as: / PUTH B Wl & ﬁ-rq A ﬁl@' \"H'I?Qf %, Fifp:
1. Tts colour is black. / I8 PTal Bl & |

2. Tt is found on plateau regions. / g UOR & H Tt STt %I

3. It is made up of lava. /WW@@W%I

4. It can retain moisture. /ZI_E»':ITﬁ Pl RPIR TG gHal %I

Correct Answer :-

« It can retain moisture. /?TS':ITﬁﬁ TRBIR TG Jhdl] %I

23) The National Survey and Mapping Organization of the country works under the Department of
./

G0 BT IITTT YA 3R AFRE faum & siavia orf drar g
1. Space / 3fciRef
2. Science and Technology / ERIE 3R qHID

3. Culture/ Wﬁf
4. Tourism / Rieq

Correct Answer :-

« Science and Technology / O iR I

24) Palk strait separates India from: / YT SICTSHSHY, HRd il P 3T HAT 5 |
1. Pakistan / UTfob &=
2. Andaman Island / 3f€H gIU

3. China /D4
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4. Sri Lanka / STcip]

Correct Answer :-

« Sri Lanka / #idi®T

25) Which among the following state is the major producer of Bauxite in India? /
FrafafaT ¥ 9 &9 91 7Sy, YR § STiearse &1 UHE ST 82

1. Madhya Pradesh / AU

2. Rajasthan / X[STRY[

3. Goa /Tl

4. Orissa / G@‘WT

Correct Answer :-

. Orissa/Bé_ T

26) Which of the following states DOES NOT share border with Chhattisgarh? /
Frafafaa 3 @ 19 a1 s BiaTe & |1y W |15 81 ol 82

1. Telangana / SR

2. Uttar Pradesh / 3TR UG

3. Bihar / %E'W

4. Andhra Pradesh / 3% Uﬁ’-‘ﬂ

Correct Answer :-

« Bihar/fagR

27) Which of the following statements is INCORRECT with respect to parallels of latitudes? /
&I & FHMIRT & Hay H fFrefoad § 9 o149 91 &3 Tad 82
1. A line joining places of equal latitude is known as parallel of largest. /
AT (&I P T B S aTel T B fA=ITerdd & THMIGR & =0 § S SdT 8|
2. They stat from equator and run parallels to it. /
d YHe T Y URY BId § IR $9% GHMIMR Ied 5|

3. All parallels are equal in length. / Y iR Q'idlig BRI %I

4, All parallels are drawn as circles on the globe. / e R IH FHMAR QTI\I' & 0 H Wi S %I
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Correct Answer :-

« All parallels are equal in length. / T HIR Q’i@lé BRI %I

28) Which of the following Indian states is also known as a ‘Land of Red river and Blue Hills’? /
FrafafaT 3 9 f5a yRdta woa o1 e 9t iR et ugifsal &1 Y & 18 | 911 ST 82
1. Uttarkhand / STRIES

2. Assam / 3{H

3. Meghalaya / I N

4. Arunachal Pradesh / SIS0 YT

Correct Answer :-

o Assam / 3HH

29) In spatial analysis of settlement, R, = 2.15 indicates which type of settlement arrangement? /
e & wifae fazauor 7, R, = 2.15 98 3Ra w341 8 % a1 voR 3 fAues srawin 82
1. Uniform / ’Cﬂ?-l'q'fl’ﬁ

2. Semi-Clustered /@'Jﬂ-w

3. Clustered / dI¥CX

4. Random / ¥

Correct Answer :-

+ Uniform /W

30) Who are known as the ‘Yellow People’? / ) diyer %wﬁﬁﬂwmév
1. Mongoloids / ﬁﬂﬂ?ﬁ%@g

2. Nigroids / m

3. Australoids / ‘}ﬁ@\m

4. Caucasoids / m@g

Correct Answer :-

« Mongoloids / ﬁﬁ?ﬁs‘s\?ﬁr
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Who publishes the topographical map of India? / HRRd G m AT BT DI USRI BT 8?
1. Geographical Survey of India / HRd &1 HITfeIe Tdemn

2. Government of India / HRd dXh R

3. Geological Survey of India / HRA & ‘J-LET‘J-WH g

4. Survey of India / HRd BT e

Correct Answer :-

 Survey of India / HRd BT A&

32) Who among the following claimed geography to be the ‘Ecology of Man’? - /
FrafifEd § A fpam 4ia &) 99w &1 TRfRAfae) Ha1 82

1. Alfred Hettner / mm

2. Vidal-de la Blache / 3133?[—% NIESIEY

3. Otto Schluter / Gﬁﬁw

4, Harlan Barrow /ER%FTW

Correct Answer :-

« Harlan Barrow / 62@1:1 TR

33) Who among the following is regarded as the founder of humanistic approach in geography? /
Frafafaa 7 9 5 yma & aeaarardt @i &1 TRATTE =T S1ar 82

1. William Bunge / faferad 7

2. Yi-Fu-Tuan /?ﬂ-@-?\’:ﬂq

3. Brain JL Berry/aq@ﬂ;raaﬁ

4, Richard Peet/ﬁil@ftﬁﬁ

Correct Answer :-

e Yi-Fu-Tuan / 3-%-H

34) Who prepared Lorenz curve? / e g frae dar feare
1. Geddes / Ts9

2. None of these /sﬂﬁ@raﬂéﬂﬁ
3. Griffith Taylor / fhy TR
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4. Max. U. Lorenz / fﬁﬂ’lﬁlﬁ

Correct Answer :-

+ Max. U. Lorenz / ﬁ?ﬂq\m

35) Gulf Streams are the currents of which of the following oceans? /
TSl F YRTE iR HemRl # 3 feas! 4R 82

1. North Atlantic Ocean / SR 3fcdilcd HEHNR

2. North Pacific Ocean / I EI'EZTI?[IIEW
3. Arabian Sea / 3IRd IR
4, South Pacific Ocean / E@‘WTWHW

Correct Answer :-

« North Atlantic Ocean / 3TRI Acdilcd AGTEANR

36) Disintegration, wearing away and removal of rock material is generally referred as: /

e ugrd (T Tl &1 g, fre T ik geT aiR W) ¥ = § Yehifa fearsrar g
1. Shattering / faedgepRS

2. Denudation / 3f-T=3Tq

3. Fault / YT

4. Decomposition / ICRISE]

Correct Answer :-

o Denudation / 3{[=d1q

37) Variations in the length of day time and night from season to season are due to: /

HiH | 9 uRads 17, i & a0 ok a & 99 #t ety | fieant fuy sru @ it 6

1. The Earth’s revolution round the Sun in an elliptical manner / q%a“r P17l ‘JQTIIODN SRICR ﬁﬁa? qRI Q:UT:[
2. The Earth’s rotation on its axis / t{%a°r CAERICA ?;[\Pf R EIP&T

3. Revolution of the Earth on a tilted axis / I 31& UX qtaﬁ 2l qUﬁ

4. Latitudinal position of the place / R @1 &< T

Correct Answer :-

+ Revolution of the Earth on a tilted axis / d 3{& U q%aﬁ 2l qUT:T
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38) Point out the correct sequence of mountain ranges from north to south. /
IR Y g1 9% udd §aarsii & Hel 3 H &I Sd H
1. Great Himalaya, Middle Himalaya, Outer Himalaya, Trans Himalaya. /

HeT feHTer, Hed fgHTer, STel fgHTerd, wRT fgarerd|

2. Middle Himalaya, Great Himalaya, Trans Himalaya, Outer Himalaya. /

T feuray, He ferTed, iR fewred, arel fermera|

3. Outer Himalaya, Middle Himalaya, Great Himalaya, Trans Himalaya. /

e feurerd, wed fgHTerd, HeM ferrey, u_1 fgared |

4. Trans Himalaya, Great Himalaya, Middle Himalaya, Outer Himalaya. /
1 fe TR, HeT fewTerd, Aen fewTery, STel feHerd |

Correct Answer :-

 Trans Himalaya, Great Himalaya, Middle Himalaya, Outer Himalaya. /

W1 feHTer, 7 feureay, Ay fearey, sTel feamer|

39) Sun’s halo is produced by the refraction of light in: / ;l}f BT YHTHS A T UHT & UFd g

S gIAT 5

1. Ice crystals in Cirrro-Cumulus clouds / Y&TH-h U Tl & 9% fheed
2. Ice crystal in Cirrus clouds / q&ﬂ"-lﬁiﬁ P g foheed

3. Dust particles in Stratus clouds / &R1 oYl o Yo I

4, Water vapour in Stratus clouds / TR A9 b O arsg

Correct Answer :-

« Ice crystal in Cirrus clouds / Ty o b fopeed

40) Read the given statements and answer which of the following options is/are correct?
(1) The minerals present in the rocks exposed to atmosphere are not subjected to alteration.

(2) Oxidation is one of the processes of chemical weathering. /

fau T FY= @1 ud R IR S P g A A F19 91/ faveu 91 &2
(1) ITGHUSE | 3Egd Aa H IufRyd @i, ufvad & siefiq T8t glar g1
) TRIFH0T TP ey 1 aferarsi # A T &1
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1. Both statements are wrong. / a-l'_'il' $?«I:TTIFI?T%I
2. Both statements are correct. / ?a:ﬁ DY ﬂ_epf %I

3. First statement is wrong and second statement is correct. / Ug Il - IeId % 3R GIRT P Y- W%I
4, First statement is correct and second statement is wrong. / Ug¢ll ﬂﬁ% GﬁT SNEAE] W%l

Correct Answer :-

« First statement is wrong and second statement is correct. / Ug Il Y ITeld % 3hT gIRT P Y- ﬂﬁ%l

41) Read the given statements and answer which of the following options is/are correct?

1. Sun’s short waves enter the earth partially heating the atmosphere.

2. Heated earth surface from the sun produces broader waves which interacts and heats the atmosphere. /
o T $Y= P v iR IR ¢ fF A & @ #1991/ fIwey 9st 82

1. g4 &) B a3 gl A 3iif¥rs w0 | vaw wdl § SR agHsd i Sitha wedl g

2. g4 A SHoha gl ot Tag fAwaiyd a3 S SRl @ Sl URER UHTT STl & iR argHsd &l
S iod Bl 21

1. Both Statements 1 and 2 are correct. / a:ﬁ$9a|7f 1 SﬁT 2 ﬂﬁ%l

2. Both Statements 1 and 2 are wrong. / aﬁ:ﬁ YA 1 3?[? 2 TIT'IT‘T%'I

3. Statement 1 is wrong and only Statement 2 is correct. / PY- 1 W% 3R Had HYT 2 “GI%T%I
4, Only statement 1 is correct. / Pad HYF 1 ﬂ?ﬂ%l

Correct Answer :-

» Both Statements 1 and 2 are correct. /fﬁ:ﬁ$?~ﬂ 1 GﬁT 2 ﬂﬁ%l

42) Read the given statements and answer which of the following options is/are correct?

(1)The rocks that get changed due to heat and pressure are termed as metamorphic rocks.

(2)Slate is one such type of metamorphic rock. /

fou T Syl ®1 ue 3R IR ¢ P g A A @19 91/ faseu T 82

1) T N SHEAT 3R ST & HRUT URGldd 8l ST & = PHRTARD Al & U § ST Srat 2
() TIe U TVE T PAARD A ¢l

1. Both statements are wrong. / Eﬁ:ﬁﬁzﬁ"ﬁlﬁ %l

2. Both statements are correct. / AL $?Ffﬂ_6&%l

3. First statement is wrong and second statement is correct. / Ug ¢l b cId % 3R FSNEAE FI_EQF %l
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4. First statement is correct and second statement is wrong. / U—G'FIT$2FI¥1—GDI% 3R GIRT P Y el %l

Correct Answer :-

« Both statements are correct. / Eﬁ7ﬁ DY ﬂ%lf %I

43) Read the given statements and answer which of the following options is/are correct?
1. Higher temperature anomaly is observed in the northern hemisphere.

2. Differential heating is absent in Northern Hemisphere. /

faw g HYA @1 ve SR IR ¢ f B A @ B w1/ faweu adl &2

1, 3} e & S qreH faEfa ot St g

2. I e H SR HoH Ui gl 21

1. Both Statements 1 and 2 are correct. / a#f$zl:f 1 3‘ﬁ? 2 ﬂﬁ%l

2. Both Statements 1 and 2 are wrong. /ﬁﬁﬁﬂ 1 G‘ﬁT 2 W%I

3. Statement 1 is wrong and Statement 2 is correct. / @YU 1 W% G?IT DY 2 Hﬁ %I
4, Statement 1 is correct and Statement 2 is wrong. / YU 1 H_E?[% 3R HUT 2 TTAd %I

Correct Answer :-

« Statement 1 is correct and Statement 2 is wrong. / PY 1 ﬂ?ﬁ% R BYT 2 W%I

44) Read the given statements and answer which of the following options is/are correct?

(1) Plutonic rocks are intrusive type of igneous rocks.

(2) It cools very slowly because the surrounding rock serves as insulation around the intrusion of magma. /
fou T Sy B U MR IR ¢ P g A A B9 91/9 ey 9l 82

) faaci e sadsh ypR F miw A4 &

%%agaiﬂ%-?ﬂ%é@ﬁm%mﬂ%m-w%ﬁaﬁm%aﬁm%aﬁﬁvﬁw%mﬁw
|

1. Both statements are wrong. / ?ﬂ:ﬁﬁm'ﬂ?ﬁ %'l
2. Both statements are correct. / a;l'_'il' $?Ffﬂ_6°[%|
3. First statement is wrong and second statement is correct. / Ug ¢l Y Icld % GhT SNERE! Flgjf%l

4. First statement is correct and second statement is wrong. / Ugcll b Gﬁ% Gﬁ'\" SN ERING! %

Correct Answer :-

« Both statements are correct. / Eq;l:” $?Ffﬂ_69[%|



45) The dust and ash material hurled from the volcanoes are termed as: /

STyt I feeq ardl A R I@ I @l FEuAweIwEI gl
1. Pyroclastic / OT8RIGTREH

2. Hyperclastic / BTSURGANRCD

3. Hepiroclastic / 8URIGITIRC D

4. Cirroclastic / RRIFRESH

Correct Answer :-

« Pyroclastic / USRI D

46) The vertical difference in elevation between a low tide and high tide is referred as: /
PR IR ST TR S IASHAS A dgad SRk A TgRia giar gl

1. Tidal slope / ORI ¢

2. Tidal elevation / SARIYT AT

3. Tidal range / SARY IR

4. Tidal height / SARIG &8

Correct Answer :-

« Tidal range / AR IR

47) The maximum biodiversity is found in which of the following regions? / Frafefaa &=l a4 3 sifteaya
e fafaerar fead urht s 82

1. Amazon Basin / 3‘@\71:[ aRE
2. East Indies / % 3@\7[

3. Congo Basin / ARG

4. West indies / I E@Tﬂ

Correct Answer :-

» Amazon Basin / G@GFT IR=

48) The cultivation of rice crop produces WA G &1 Bad B el CAR I Bl %I

1. SO,

Page- 32



2.CH,

3. CFCs

4. CO,

Correct Answer :-

+ CHy

49) The pressure system with higher pressure at the centre is called ./
% H I a1 aTell GaTd JUTTel Bl FRIAEI g

1. front / YU

2. depression / 3{dTHA
3. cyclone / déhdld
4, anti-cyclone / Ufc=repard

Correct Answer :-

« anti-cyclone / PIGEEEIG

50) The Himalayan region is poor in mineral resources because: / fearerdt a'ﬂ E’ﬁ'ﬂwilﬁﬁm
ol & Rifeh:
1. The displacement of rock strata has disturbed the arrangement of rocks and made it complex. /
Qg TR &b FAIRITT A IS o | SHaRT 1 Sfeaieyd B f3ar 8 3R 39 oifed a1 fgan 81
2. The climate conditions are not suitable for exploitation of minerals. /

STaarg &t Rufc TSI o gleH o fore Suged el ol

3. The terrain makes explanation of minerals difficult and very costly due to transportation difficulties. /

Y- UFTUREE Bl HfSIZa! & BRI GGl &1 ge GRedwd 3R Igd 7 a1 <dl ¢ |
4, It is made up of crystalline rocks. / a%'ﬁv‘&?ﬁtr dg I‘“'”@[W%l

Correct Answer :-

» The displacement of rock strata has disturbed the arrangement of rocks and made it complex. /

Qg TR & FAIRITT A IS &1 ST B Safeyd $ T 8 3R 3 Sfed a1 fgan B

51) The process through which the moisture is added to the atmosphere by vegetation is termed as: /

I uferar o Arerw | g9ufa gRT araravor # 5+ frarf st 8, FFUH S ST |
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1. Condensation / g

2. Evapotranspiration / TO-I o
3. Radiation / fafemeor

4, Precipitation / EFST"UT

Correct Answer :-

« Evapotranspiration / JTO-I o

52) The process through which the terrestrial heat is transferred to air by direct contact is termed as: /

98 ufshar oI vl Judh gRT T SHITY A ARG I ol e, FFUH FAH el 3|
1. Conduction / dlcld

2. Convection / Jdg

3. Insolation / 3TdU-

4, Radiation / fafor

Co‘lr‘re‘ct AhsWer‘:; -

« Conduction / dTd-

53) The largest area under mangroves is in which of the following states/union territory? /
Hotg & sfaefa frraferfea wreal/aw IRid wd=n § 9 999 98T 87 1T AT 62

1. Andaman and Nicobar / SIUSHH S?R IECARIE

2. Andhra Pradesh / 3118 Rl

3. West Bengal / Ui s

4. Gujarat / J[SIRId

Correct Answer :-

» West Bengal / e s

54) The longitudinal transverse and surface waves in an earthquake originate from: /
ey A AR IR SR Haq5 a4 TgT 7 ghelt 3

1. The focus on the surface of the Earth / q%a’l’r & Hag R %ﬁ’g’ Ci

2. The focus within the body of the Earth / J2&! & iR dg-foig o

3. The epicenter within the body of the Earth / qlan & HiR Iuldhg o
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4. The epicenter on the surface of the Earth / q&‘:ﬁ G qdg U dui\e&'og H

Correct Answer :-

« The focus within the body of the Earth / Gl & HiaR dg-foig |

55) The down slope movement of material due to gravity is called__ ./
TFETHYU F FRUT UG F S MA Sl weTwIar gl

1. mass movement / et e

2. deposition / fAau

3. erosion / &RUI

4. volcanic movement / SATTYEIY Hee

Correct Answer :-

e mass movement / Wﬁw

56) Shimla is cooler than Amritsar although both are on the same latitude. This is because: /
e o sryawR A 3ife 38 B, 3Taifes Gl TH S1&fiR IR § | ST 8, Fifep:
1. Shimla is at a greater height above sea level than Amritsar. / IR G| SN T R Y& ddl T 3w

FaE WEI

2. Shimla is further north. / TRIFET IR Bl 3R 2|

3. Shimla is farther from the equator. / TR ‘Jf:[mw T Mg
4. Their longitudes differ. / 3! SRR Y@ 37 B

Correct Answer :-

» Shimla is ata greater height above sea level than Amritsar. / STHA¥R G| Jetl T R HHx ddl T 3w

$aE R el

57) ‘Tempo of Urbanization’ measures which of the following? /
R8Il BT Tur Pl & @ w19 a1 Sur 32

1. Speed of urbanization /Q"I?Wﬁ T

2. None of the above /ETI'Ef ﬁﬂ'ﬁ%ﬁ:ﬁf

3. Inequality of urbanization / BRI BT SRTHT

4. Current level of urbanization / Qléi h U] Wa?ﬁ:l'ﬂw

Correct Answer :-
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« Speed of urbanization / QIE“\”EWUI CARIG]

58) Out of the following options, choose the INCORRECT statement? /
Frafafad e d |, T0d $3F o1 999 332
1. The clear tracts in the equatorial region recover rapidly. / lmw%@n 7wy HHIT ot I 31 Bl Td % |
2. The stable communities include a redwood forest, a pine forest at high elevations. /
R Tl A te ¥S4S o, 3 $dls IR Ud ¢aeR aq XM g
3. Any ecosystem moves towards maximum biomass and stability to survive. /
PI% o iRt & Siifad Te % R sifiiedm Siavigfa SR fRRAT 3t IR SRR BT &

4. Tropical rain forests near equator are stable ecosystems. /

YA T 3 U1 SWIhTesehy auf o fRR TikfRifae o 81

Correct Answer :-

 The clear tracts in the equatorial region recover rapidly. / lngiw T Wy HHIT il ¥ 31 B oI % |

59) Seasonal contrasts are maximum in: / HIRIH fouHeT siftrpaq %
1. Mid latitudes / Hed S{&TT H

2. Low attitudes / T Sf&fiRr &

3. High latitudes / 3o 3{&fI=T )

4. Subtropics / SUws st & |

Correct Answer :-

« Mid latitudes / FET 3{&fT2T o

60) In India, which type of forest among the following occupies the largest area? /
YyRd ¥ fFuferfad 7 4 f59 UeR & 79 99 951 &% d JITBTied B 82
1. Sub-tropical Dry Evergreen Forest / 3U RLUCI IR & HaldglR d-

2. Mountain Wet Temperate Forest / tlé?ﬁtf Gﬂi‘(c T a9

3. Tropical Moist Deciduous Forest / LG TER] B &n'sf gofurdt a9

4, Tropical Wet Evergreen Forest / JUGBIeadiT 3% HaldgR d

Correct Answer :-

+ Tropical Moist Deciduous Forest / IuHeadg 3’”’9% Tofurct a9
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61) What is the proportion of ‘Juvenile Population’ (0-14 years) in India, as per 2011Census? /

%011 P STIUET & IR, YR 8 a-13d TR a1 fHRIR SFESAT (0-14 ) BT SUTd T

1. 30.76 % of total population. /ﬁmm 30.76 %
2. 27.64 % of total population. / B STHERSHT BT 27.64 %
3.29.33 % of total population. / P STHERSHT BT 29.33 %

4. 33.54 % of total population. / P ST BT 33.54 %

Correct Answer :-

+ 30.76 % of total population. /WW@TW 30.76 %

62) What is the Belfast famous for? / WW%’QW%’

1. Belt of cotton textile industry / U d¥d ST & &F

2. Ship-building industry / STTST fAH{0T ST
3. Agricultural machinery / WW
4. Aero planes manufacturing / Wﬁﬂfﬂ

Correct Answer :-

« Ship-building industry / ST&TST fAH{0r ST

63) What is the most important occupation in tropical monsoon lands? /
S fed i A g Y & Tad Aedyul eI T 82

1. Mining / -

2. Cattle rearing / o=l e

3. Agriculture / ?f@f

4. Nomadic herding / BIEIIRED G@@%Zﬂ

Correct Answer :~-

« Agriculture / @f@f

64) What is the most important characteristics of the islands (Indian) located in the Arabian sea?? /

3RY 9FR # fRa gt (HR) o1 Ta Heayu fa=ivar = 82
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1. There are all of coral origins. / GH! HRA Hdd Ca]

2. There are all very small in size. /At SR o sgd BRI

3. They have a very dry climate. / 5'10I?nl Sleldi dgd [Th %I

4, They are extended parts of the mainland. / 3 q_Eﬂ_gﬁ'q & fawiiya %@@f % |

Correct Answer :-

+ There are all of coral origins. / gt oA Hdl *» % [

65) What do the basalt layers of the Deccan indicate? / STH B 9T URd HT Eﬁﬁ el %.?
1. All of the above / SURTa FHT

2. Huge volcanic eruptions in the distant past / gI&{ 3fciia o fa=mme \!_'OIWH fawple

3. The immense erosional activity of the rivers / Afeal ot fa=ma &Ror ufafafy

4, The influence of weathering / TR BT YT

Correct Answer :-

 Huge volcanic eruptions in the distant past / GX&[ 31l A {9 ﬁ'ﬁﬂw’q ICRY

66) In the structure of planet Earth, below the mantle, the core is mainly made up of .

A TP WM A Aca & 9, eRgEErd__ AFffaad g
1. aluminium / TegHITH

2. silicon / TRITeTepT=T

3. chromium / hITHTH

4. iron / QIGT

Correct Answer :-

e iron /F‘h@T

67) One of the major Mid Oceanic Ridge is found in: / mﬂW-mﬁﬁﬁ TETH H grar
ST g |

1. Mid Pacific Ocean / H¥ URIid HERINR

2. Mid Atlantic Ocean / AT 3cdiicd HERINTR

3. Mid Indian Ocean / A% R HETETR

4. Mid Arctic Ocean / A€ 3Th{ch TETR
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Correct Answer :-

« Mid Atlantic Ocean / AT 3{cdilcd HBNNR

68) Magma that reaches the Earth’s surface and then solidifies is called i
T S gl 1 Tedg 9@ Ugadl ¢ SR R S gl el €, FEarnd gl
1. quartz / m

2. lava / <Idl

3. granite / a:llga
4. silicates / Rifcidpe

Correct Answer :-

o lava/ddl

69) Isotherms are the lines of equal ./ WW%@T&, HHTA ﬁi@ﬁﬁ?ﬂ%l
1. pressure / GId

2. temperature / ATYHIT

3. rainfall / 1

4. height / SaTs
Correct Answer :-
« temperature / dTHIT

70) Mark the correct sequence of passes in the Western Ghats from north to south. /
uf2rt arel A IR 4 Sfar ae ¢¥ & el srgehH B fifad Y1

1. Thalghat, Palghat, Bhorghat / Y<IiTHIC, UTTUIC, URHTe

2. Thalghat, Bhorghat, Palghat / Y¢THIC, ‘J-nT'Eﬂ_C', BINPIE

3. Bhorghat, Thalghat, Palghat / 'J-nT'EI'I_C', YoTdIc, UleTulc

4, Palghat, Bhorghat, Thalghat / UT¢TdIC, ‘J-ﬁTﬂ'I—Cr, EERIE

Correct Answer :-

. Thalghat, Bhorghat, Palghat / YTTdTe, HIREIE, TTCTdIC

71) Which of the following does not have influence over the climate in India? /
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Frafafa o @ frae vuTe YR 91 Siaaryg w8 usar 82
1. Ocean currents / TN 1 W
2. Nearness to equator / lmwi@ ARG

3. Monsoons / HI{1
4. Presence of Indian ocean / HRdI HEHTR I AT

Correct Answer :-

« Ocean currents / IR &1 FIE%

72) Which of the following cloud types has the characteristics like vertical, tall, narrow and puffy? /
Frafefed o 9 ford TR & A9l A daad, ddl, Seivf 3R Ry@ar s fa=ivang g2

1. Cumulonimbus / @qv—l:ﬁﬂ'ﬂ

2. Cumulus / ﬂ‘ag\‘rr

3. Cirrocumulus / U&T H B 7Y

4. Nimbostratus / TURRI BY

Correct Answer :-

« Cumulus / ﬁﬂgﬁf

73) Which of the following statement is INCORRECT about Crude Birth Rate? /
FrafafE 3 o9 91 HUT SRNTYT TH &R & IR 1 98! 181 82
1. It cannot be used for comparing fertility level between two countries with different population characteristics. /

DT IUANT sy Sive faRarstt aret &l =1 & oe Uoi WR &1 ol & Q7S =161 [T S Jahdl 5 |

2. It is a standardized measure of fertility. /

g Yo &HdT B WS IHd SUT g

3. It is effected by the age-sex composition of the population. /
g 3METG! B SHT-FoiT TR ¥ wHIfad g g

4, It is expressed per 1000 population in a given geographical unit. /

Tg fHat &) 1S WITIfeiss 318 | Ul 1000 SHEGIT IR A4 fobdT STl g

Correct Answer :-

« Itis a standardized measure of fertility. /

g TSI &l &1 A& 1hd SUd ]|
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74) Which of the following state in India experienced negative decadal growth rate during 2001 to 2011
census? /

yRa ¥ fFrafrfaa § @ fra wsa & o 2001 F 2011 Y FROFT F ERE THERIEAS RTE SR 552
1.Tripura/ﬁ'g?'[
2. Nagaland /'_'I'ITH?I.—&r

3. Haryana /E!ﬁ'EITUﬂ
4. Odisha / Sfif&Hm

Correct Answer :-

« Nagaland / :nlné’s

75) Which of the following is NOT a characteristic of peninsular rivers? /
Frafafaa & 9 o A favar gt afeat 5 751 gt 82

1. Flow through shallow valleys / 3Udl €fcdl o H1HH 4 UdTg

2. Seasonal flow / TRTH} TaTg

3. Little erosional activity / ?h@ﬁ FeldeR Tfafafdr

4. Meandering tendency, often shifting their beds / YHIIGIR qu?‘l, SR U del DI MR BT

Correct Answer :-

» Meandering tendency, often shifting their beds / THIIGIR qu, TR YA el DI RIMTART HRAT

76) Which of the following gases in the atmosphere absorbs heat from the Sun’s radiation and the Earth's
surface? /

argHsa A PrafifEd # & o1 o i gd & fafewor ok gedl &) Tag @ ST B raifig sd 82
1. Neon / 919

2. Carbon dioxide / BT SIS S

3. Argon / 3

4. Nitrogen / IS¢l

Correct Answer :-

« Carbon dioxide / PTa SIS S

77) Which of the following kind of settlement pattern is found at the confluence of rivers? /
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Frafafaa § @ fow teR 1 sawi= de afeal & W ur urar sirar 32
1. Triangular Pattern /Wﬂ’qaﬁ

2. Circular or Semi-Circular Pattern /Uﬁ'CHZIT 3ref-gfvuz U

3. Nebular Pattern /ﬁ@?ﬁaﬁ

4, Star —Shaped Pattern/ ICR-H[HR BT e

Correct Answer :-

« Triangular Pattern /Wﬁﬁ

78) Which one was not the objective of the Biosphere Reserve Projects launched by the UNESCO? /
FAD! GIRT YRE DI T3 WRAed lavsd URASH13M BT I 5780 | BIF T 81 UT?
1. To promote teaching and research / fRI&f0T 3R ST CACHEIE])

2. To make agriculture sustainable / w Ca C:\lqdvllr(\*idv CRIGI!
3. To conserve ecosystems / kiR dF P WRFEd B
4. To conserve genetic diversity for a longtime / dd J9g db @IﬂaT@]a'T fafaed &1 SRféa s

Correct Answer :-

+ To make agriculture sustainable / Tﬁf 303[ Cﬁﬁwl%w SEIG]

79) Which region of the Earth surface receives the highest amount of insulation? /
Tt g BT B T & ATITGRIY B S=ad AT UTed Hel 82

1. Land mass / RITRIS

2. Savannah region / JdIl ES

3. Water bodies / ST¢T GEap

4, Tropical desert / RLUEARERIRRGIESIG

Correct Answer :-

« Tropical desert / SUHfCe T IRAH

80) Which one of the following is not a biodiversity hotspot? /

fFrafafad o @ $i9 a1 Sa fafaerdar o1 9 srg 72 @2
1. Eastern Himalaya / Eﬁf%ﬂm

2. Eastern Ghats / Uﬁ‘a'lf
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3. Indo-Myanmar / YRA-TIHR

4. Westerm Ghats / Tl gre

Correct Answer :-

» FEastern Ghats / qﬁf'aTE

81) Which one of the following is NOT a part of the World Network of Biosphere Reserves based on the
UNESCO Man and Biosphere Programme? /

éﬂﬁﬁ%ﬁféﬁﬁ?ﬂﬁﬂ?W% YR W i@ d @ o9 araew iR Red & fay Aead o1

1. Gulf of Mannar / HJIR Pl @'@
2. Seshachalam / W

3. Sunderban / g&xa
4, Nilgiri /7‘1 AR

Correct Answer :-

» Seshachalam /‘\ﬁ‘sﬂ?ﬁﬂ:{

82) Which one of the following is an example of “desert vegetation”? /
Frafefed § & o1 "aewidi T $1 @ Ieev g2

1. Mosses and lichens / G¢TGdd 3R aTd

2. Temperate grassland / AT 9 & e

3. Coniferous forest / ?@W d-

4, Acacia and cactus / Qib—fﬁlzﬂ 3R Paeg

Correct Answer :-

» Acacia and cactus / Qﬁb—m Sh? m

83) Which one of the following reflects more sunlight? / Fafsfada s ﬁ‘f D1 A= B ST
WRTafd ST 82

1. Paddy crop land / YT Tyl 'H:&[

2. Land covered with fresh snow / ISl T5H I Gﬂﬂ"ﬁﬁ '{&[
3. Sand desert /Wmﬁ

4. Prairie land / T ’ﬁ[&[

Page- 43



Correct Answer :-

. Land covered with fresh snow / TSl S0 ¥ 3fTeSTTad ‘1;[&[

84) Which layer of the atmosphere is in contact with the surface of the earth’s oceans? /
IYHSH B DI Al WRd §dl & HERINRI & Tdg S AP | g2

1. Stratosphere / JHAY HSA

2. Mesosphere / A HEd

3. Hydrosphere / STaHS A

4. Troposphere / ey Hed

Corféct An#vﬁer ‘:- H

+ Troposphere / ey Hed

85) Mediterranean Sea is a border of which of the following countries? / HHY AR fFafafead=ida
forae! WA e?

1. None of these /Eﬁ I Ebﬁ'sc :l_Eﬁ

2. Iraq / QX
3. Lebanon / NERIG]

4, Jordan / \_rlulé:l

Correct Answer :-

o Lebanon / NERIG]

86) Benguela ocean currents are found along which coast? / a"IQ?ITIIE'mTﬂ? WWW%WU urdt
Tl @2

1. East Coast of South America / &0l 3MRPT %q\?ﬁa‘c’

2. East Coast of Africa / 31T b tgﬁﬂ?:’

3. West Coast of South America / GI&0T 3[R & Uil dc
4, West Coast of Africa / 3ThIpT & TIEHT e

Correct Answer :-

o West Coast of Africa / 3PIpT P TIEH! e
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Due to tension, a block of land on one side being pushed up or upthrown relative to the downthrown block
is referred as: /

TG & HRUT, 17 B §T TS & ATUE, YA $T TP WS TH 3R T HUR Yl ofrar g I1SHUR B 3R
PHIVMIS, T8 P ©UH HefId gl

1. Thrust fault / &g Y
2. Normal fault / JTHRT U

3. Reverse fault / FIhH YU
4. Strike slip fault / fads Uy Y=

Correct Answer :-

« Normal fault / HHT Iy

88) Inter-tropical doldrums is a zone of ./ SiR-Iwsled g Sagw DITH T2l
1. Frontolysis / The AR
2. Convergence / TR

3. Inter-tropical divergence zone / SR-IUB s f[daaT &=
4. Local wind / R d1g

Correct Answer :-

« Convergence / SRR

89) The Horse Latitudes are regions located at about _____ north and south of the equator. /
B ST YA Y@ S IR SR ST ATy R R a7 g

1. 30-60 degree Latitude / 30-60 f&UT 3fefi=1

2. 0-5 degree Latitude / 0-5 SRR

3. 30 degree Latitude / 30 Ut arefi=n

4. 60-90 degree Latitude / 60-90 TSUT S&=T

Correct Answer :-

« 30 degree Latitude / 30 SUT 31

90) Generally evaporation is high over which part of the Earth? /

3T AR IR gt & fr Uit R aredieor it giar 82
1. Equatorial maritime / %Wﬂﬁ?ﬁq
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2. Equatorial continental / qﬂ:f?ﬂaﬁfnm

3. Polar maritime / %l?ﬁ'q GH?&C[
4, Polar continental / WW

Correct Answer :-

- Equatorial maritime / YA TH&I

91) A very high temperature during summer in north western India leads to what type of climatic
condition in south? /

IR Ui wra A i & R aga iR Iraw 811 & BRI fer # e TeR 9t Siaaryg fRufa
I HaAT 82

1. Depression over arabian sea / 3IRd YR U SHdHA
2. Failure monsoon / AFY fatherar

3. Successful monsoon / HIYA AW cldl

4, Cyclones / déhdld

Correct Answer :-

+ Successful monsoon / HIAYA Hth IdI

92) Lightning and thunder are the resultant effect, when: / a%?r 3R TSI uRomdt gHmE %., uid:

1. Two massive clouds hit powerfully each other, first lightning is produced and later sound is produced. /

gﬁgwwwﬁmmﬁmﬁ%%ﬁwmmm%ﬁmﬁwﬁm
|

2. Two massive clouds come into contact with the powerful wind collision, this results into first sound and then
lightning. /

ﬁ@éﬂmmw%wﬁ&nﬁﬁmmmwﬁﬁmww
IaA |

3. None of the above / SWRIgd # I cb\lsr “—ﬂﬂé‘r

4. A high density cloud contains positively and negatively charged electric ions and when this interacts, light and
sound are simultaneously produced. /

TP I U9 16 | YIS 3R HUTEHD AT faggd 3ma- 8ld 8 3R o I8 TRER YHTd STefd §, al
TS 3R € T 1Y ITfed gl B

Correct Answer :-

+ A high density cloud contains positively and negatively charged electric ions and when this interacts, light and
sound are simultaneously produced. /
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U 3 Ucd dlgdd H Y-S 3R BUMHD AT faggd S i 8 3R Sld I8 IR UHTd Sleld g, dl
BT IR ¢+ T 1Y I gl 3|

93) Doon Valley is able to grow rice because: / §T'|"EI'I'cﬁ, Wmﬁﬂ&m’ %ﬂzﬁ'ﬁ?
1. Other crops cannot be grown. / 981 31 Tl i ST 6] ol qebell %I
2. People in the valley are rice eaters. / gt | F‘ﬁ"TW“@ﬂe{ ara %I
3. There is a huge export demand of rice. / CREICH! &I YR Faid IIT‘T%I
4. It has warm summer and snow melt waters for irrigation. /
gt et i gl € RS & forw sth o1 foreren gan o S 71
Correct Answer :- | | | |

« It has warm summer and snow melt waters for irrigation. /

gt et T gl € RS & forw ath o1 freren gan o S B
94) CANCELLED
In the geological time scale, the Mesozoic Era DOES NOT contains which of the following periods? /
i o T UR, Aersidl g | forg sra § @ o1 T8 e
1. Triassic / W
2. Jurassic /m

3. Cretaceous / dIehHY
4. Carboniferous / ao‘lﬁ

Correct Answer :-

o Carboniferous / Eb—l_cf_*ﬁ
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Match the following List-I with List-II and select the correct answer from the given codes. /

-1 | 3 e - | I Terwtier e st fferra & 3iR o g 1T she 3 Hel Sca i =de
I

List -1/ 3[T- List - I/ T[T - 11

(Tribal groups) / (FTRART HHE) (Area/Region) / (87931

P. Bushman / g5 1. India / AR

Q. Pygmy / 9HT 2. Alaska, Greenland / 3o, Aels
R. Eskimo / UREHHT 3. Zaire / S

8. Gond /75 4. Namibia / A& T

1. P-3, Q-4,R-2, S-1
2. P-3,Q-4,R-1, S-2
3. P-3,Q-4,R-1, S-2
4. P-4, Q-3,R-2, S-1
Corfect AnéWef - |

« P-4,Q-3,R-2, S-1

96
) Ivlatch the following List-I with List-II and select the correct answer from the given code. /

- 1| 3 Ered - | 3 TorTTer el &1 [FeTTe & 3N oA &0 1T &he & EeT Seol 3l T 31 |

List-I / F=T- | List-TE / T - 11
(Features) /( frdraamd) (Concepts) / [ TTEUROTT)
P. Equal Time / 98 THT 1. Isonephs / HIYYE!

Q. Equal sunshine / THTA EFI‘\"*‘SI'H%IQT 2. Isohyets / FEaT Y@r

E. Equal cloudiness / THA dlicel 3. Isochrones / THRTONAY

5. Equal precipitation f AT TYOT | 4. Isohels / maﬁm&rm

1.P-3,Q-1,R-4, S-2
2. P-3, Q-4, R-1, S-2

3. P-3, Q-2, R4, S-1
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4. P-2, Q-1,R-4, S-3

Correct Answer :-

« P-3,Q-4,R-1,S-2

7 Match the following List-I with List-II and select the correct answer from the given code. /

- | | et - | 3 Toreet ol e oht TEellet ol 3R o<l fET aTv s 3 e Sccl} &l S el i |

List -1/ =t - | List —II / §=Y - 1

(Types of tree) / (F87 F UFR) (Areal region) / {TRe &1=)

P. Teak / GAile 1. Kamataka / Shellceh

Q. Sandal /T 2. Tropical lands / 3S0Teh{¢aeiia o &

R. Deodar / &d€IX 3. Monsoon forests [mﬁaﬁ

S. Mahogany / HE 14T 4. Jammu and Kashmir / EIFF[\E?‘IT HheHT

1.P-3,Q-1, R4, S-2
2.P-2, Q-3, R4, S-1
3.P-2, Q-1, R-3, S-4
4.P-4,Q-2,R-1, S-3

Correct Answer :-

« P-3,Q-1,R-4, S-2

98
) Match the following from List-I with List-II and select answer from the codes given below. /

- 1| 2 rer - | 3 ToretTor T ot faeter o iR ofi=r fw arw dhe & Hel Secld ol S el i |
List — I/ ¥t List - I/ F=I-11

P. Ischaline / §HEJUI @l | 1. Rainfall / g9

Q. Isotherm /A L@ | 2. Salinity / STd0TdT

E. Isohvets / HH YT TEr 3. Temperature / d9HTA
S. Isobar / T&EEE 1@l 4. Pressure / ©ld
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1. P-3,Q-2, R-4, S-1
2. P-1, Q-2, R-3, S-4
3.P-2, Q-3,R-1, S-4
4.P-4,Q-3,R-2, S-1

Correct Answer :-

. P-2,Q-3,R-1,S-4

99) “Human geography is the study of changing relationship between the unresting man and the unstable
earth” was defined by: /

“OE Y, THA STEH SR SRR gt & ot dae ufead= &7 sieaa-T 8~ TRT UfHTa o
Tl

1. ). Brunches / O S

2. E.C. Semple / 5.9}, 9w

3. H.J. Mackinder / Td o Afdex
4. PV. Blache / 1.9, &eId

Correct Answer :-

« E.C.Semple /é?ﬁ I

100) Sedimentary rocks are finally and ultimately derived from the ./
AT TgH SHda: U $I A B

1. action of earth movements / E{%ﬂ CIRIRICIRR

2. marine deposit / ﬂ'ﬂ?ﬁ fA&a

3. weathering of metamorphic rocks / FUidid agl:il‘ & 3T

4. weathering of igneous rocks / A agl:il' & 3U&
Correct Answer :-
» weathering of igneous rocks / Mg EIEI:” & ULy
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